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QUESTION 1

You log in to the ORCL database as SYSTEM and successfully execute these two blocks of code:

BEGIN
DBMS REDACT.ADD POLICY (object schema =» ‘HR',
object name => ‘EMP’
policy name => ‘REDACT EMP',
column name => ‘SALARY',
tunction type => DEMS REDACT.FULL,
expression => ‘1=17):

END;

BEGIN
DBMS REDACT.ALTER POLICY (object schema => “HR’,
object name => ‘EMP’,
policy name —> ‘REDACT EMD',
action => DBMS READACT.ADD COLUMN,
column name => ‘LAST NAME',

expression => *SYS CONTEXT (' 'USERENV'', '’SESSICN USER''")!
=7 SCQTTF 7)) ;

END;

The SCOTT user has the SELECT privilege on HR.EMP.

Which statement is true about queries by non-DBA users with the SELECT privilege on HR.EMP?

A. All their queries display blanks for LAST_NAME and the true contents of the SALARY column.

B. Only SCOTTW'S queries display the true contents of the SALARY column and blanks for LAST_NAME.
C. All their queries display blanks for LAST_NAME and zeroes for SALARY.

D. Only SCOTT\W'S queries display the true contents of the SALARY and LAST_NAME columns.

E. Only SCOTTW'S queries display zero for SALARY and the true contents of the LAST_NAME column.

Correct Answer: A
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QUESTION 2
Which two are true about the ADR retention advisor in Oracle Database 12c Release 2? (Choose two.)

A. ESTIMATE (SHORTP_POLICY = 192) estimates the space requirement based on the SHORTP_POLICY value of
192 minutes.

B. ESTIMATE (SHORTP_POLICY =192, LONGP_POLICY = 2160) estimates the space requirement based on current
ADR diagnostics file space usage.

C. ESTIMATE (SIZEP_POLICY = 209715200) estimates only the long retention policy.

D. ESTIMATE (SHORTP_POLICY =192, LONGP_POLICY = 8760) provides estimates that users can use to set
SIZEP_POLICY.

E. ESTIMATE (SIZEP_POLICY = 209715200) estimates the value of LONGP_POLICY.

Correct Answer: DE

QUESTION 3

You receive complaints about poor performance in an Oracle 12c database while long running queries execute. You
must obtain statistics such as elapsed time, CPU time, number of reads and writes, 1/0O wait time, and other wait times
for each step of each execution plan to help diagnose the problem during query execution. How would you achieve
this?

A. by viewing Active Reports for that time period

B. by enabling SQL trace for each query

C. by running the Automatic Workload Repository (AWR) report for that time period

D. by running the Active Session History (ASH) report for that time period

E. by enabling tracing for sessions that run these queries

Correct Answer: E

Reference: https://docs.oracle.com/database/121/TDPPT/tdppt_realtime.htm#TDPPT034

QUESTION 4

Which statement is true about the Automatic Diagnostic Repository (ADR)?
A. Space used by the ADR can be limited to a user-specified value.

B. Space used by the ADR is limited based only on the retention period.

C. The retention period for the ADR is set based on the space limit specified.

D. When the ADR reaches the space limit, it deletes incident dumps and metadata before deleting old core dumps.
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E. Manual purging of all types of ADR files is allowed.

Correct Answer: E

QUESTION 5
Which statement is true about transportable tablespaces?

A. The tablespace data file or data files to be plugged in to the target database cannot have a different block size than
any of the source database\\'s data file or files.

B. The cannot be dictionary-managed tablespaces
C. The source tablespace can be encrypted D. They can be administrative tablespaces such as SYSTEM or SYSAUX

Correct Answer: A
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